

REGULILE LUI L'HOPITAL

Calculati:

$$1) \lim_{x \rightarrow \infty} \frac{e^{2x}}{x} \quad \text{si} \quad \lim_{x \rightarrow \infty} \frac{\ln x}{2x+1}$$

$$2) \lim_{x \rightarrow \infty} \frac{x^2 + 2x + 3}{\ln(x+2)} \quad \text{si} \quad \lim_{\substack{x \rightarrow 0 \\ x > 0}} x^x$$

$$3) \lim_{x \rightarrow \infty} \frac{x^2 - x + \ln x}{x + 2 \ln x} \quad \text{si} \quad \lim_{x \rightarrow 0} (\cos x)^{\frac{1}{x^2+x}}$$

$$4) \lim_{x \rightarrow \infty} \frac{\ln(x+e^x)}{\ln(x^2+e^{2x})} \quad \text{si} \quad \lim_{x \rightarrow 0} \left(\frac{1}{x^2}\right)^{\sin x}$$

$$5) \lim_{x \rightarrow \infty} \frac{x \cdot e^x}{x^2+1} \quad \text{si} \quad \lim_{x \rightarrow \infty} x^{\frac{1}{x}}$$

$$6) \lim_{x \rightarrow 0} \frac{\sqrt{1+x}-1}{\sin x} \quad \text{si} \quad \lim_{\substack{x \rightarrow 0 \\ x > 0}} x^{\sin x}$$

$$7) \lim_{x \rightarrow 0} \frac{\cos 2x - \cos x}{x \sin x} \quad \text{si} \quad \lim_{x \rightarrow 0} \left(\frac{\lg x}{x}\right)^{\frac{1}{x^2}}$$

$$8) \lim_{x \rightarrow 0} \frac{2 \sin x}{1+x-\cos x} \quad \text{si} \quad \lim_{x \rightarrow 1} \frac{x^5-1}{x^6+2x^3-3}$$

$$9) \lim_{x \rightarrow 2} \frac{x^3-8}{x^6-64} \quad \text{si} \quad \lim_{x \rightarrow 0} \frac{1-\cos 3x}{x^2+x}$$

$$10) \lim_{\substack{x \rightarrow 0 \\ x > 0}} x \ln x \quad \text{si} \quad \lim_{x \rightarrow 1} \frac{\sin(2^x-2)}{\lg(3^x-3)}$$

$$11) \lim_{x \rightarrow -2} \left(\frac{1}{x+2} - \frac{1}{\ln(x+3)}\right) \quad \text{si} \quad \lim_{x \rightarrow \infty} \left(\frac{1}{2} - \cos \frac{1}{x}\right)^{\frac{1}{\ln x}}$$

Calcolati: a) $\lim_{x \rightarrow 0} \frac{\cos 2x - \cos x}{x \sin x}$

b) $\lim_{x \rightarrow 0} \left(\frac{\operatorname{tg} x}{x} \right)^{\frac{1}{x^2}}$

a) E₁) $l = \lim_{x \rightarrow 0} \frac{\cos 2x - \cos x}{x \sin x} = \lim_{x \rightarrow 0} \left(\frac{\cos 2x - \cos x}{x^2} \cdot \frac{x}{\sin x} \right)$

E₂) $l_1 = \lim_{x \rightarrow 0} \frac{\cos 2x - \cos x}{x^2} \stackrel{\frac{0}{0}}{\text{L'H}} \lim_{x \rightarrow 0} \frac{-\sin 2x \cdot 2 + \sin x}{2x} \stackrel{\frac{0}{0}}{\text{L'H}}$

$= \lim_{x \rightarrow 0} \frac{-2 \cos 2x \cdot 2 + \cos x}{2} \stackrel{\frac{-4+1}{2}}{=} -\frac{3}{2}$

E₃) $l_2 = \lim_{x \rightarrow 0} \frac{x}{\sin x} = \lim_{x \rightarrow 0} \frac{1}{\frac{\sin x}{x}} \stackrel{\frac{1}{1}}{=} 1$ (limite rimanda)

E₄) $l = l_1 \cdot l_2 = -\frac{3}{2} \cdot 1 = -\frac{3}{2}$

b) E₁) $l = \lim_{x \rightarrow 0} \left(\frac{\operatorname{tg} x}{x} \right)^{\frac{1}{x^2}} \stackrel{1^\infty}{=} \lim_{x \rightarrow 0} \left(1 + \frac{\operatorname{tg} x - x}{x} \right)^{\frac{1}{x^2}} =$

$= \lim_{x \rightarrow 0} \left[\left(1 + \frac{\operatorname{tg} x - x}{x} \right)^{\frac{x}{\operatorname{tg} x - x}} \right]^{\frac{\operatorname{tg} x - x}{x^3}} \stackrel{\frac{0}{0}}{\text{L'H}} \lim_{x \rightarrow 0} \frac{\operatorname{tg} x - x}{x^3} = e$

E₂) $l_1 = \lim_{x \rightarrow 0} \frac{\operatorname{tg} x - x}{x^3} \stackrel{\frac{0}{0}}{\text{L'H}} \lim_{x \rightarrow 0} \frac{\frac{1}{\cos^2 x} - 1}{3x^2} =$

$= \lim_{x \rightarrow 0} \frac{1 - \cos^2 x}{3x^2 \cos^2 x} \stackrel{\frac{0}{0}}{\text{L'H}} \frac{1}{3 \cos^2 x} \cdot \lim_{x \rightarrow 0} \frac{1 - \cos^2 x}{x^2} =$

E₃) $l_2 = \lim_{x \rightarrow 0} \frac{1 - \cos^2 x}{x^2} \stackrel{\frac{0}{0}}{\text{L'H}} \lim_{x \rightarrow 0} \frac{-2 \cos x (-\sin x)}{2x} = 1$

E₄) $l_1 = \frac{1}{3} \Rightarrow l = e^{\frac{1}{3}}$

Calcolati: a) $\lim_{\substack{x \rightarrow 0 \\ x > 0}} x \ln x$

b) $\lim_{x \rightarrow 1} \frac{\sin(2^x - 2)}{\operatorname{tg}(3^x - 3)}$

a) E₁) $l = \lim_{\substack{x \rightarrow 0 \\ x > 0}} x \ln x$ $\frac{0 \cdot (-\infty)}{\frac{0}{0}}$ $\lim_{\substack{x \rightarrow 0 \\ x > 0}} \frac{\ln x}{\frac{1}{x}}$ $\frac{-\infty}{\frac{1}{0}}$

$= \lim_{\substack{x \rightarrow 0 \\ x > 0}} \frac{\frac{1}{x}}{-\frac{1}{x^2}} = \lim_{\substack{x \rightarrow 0 \\ x > 0}} \frac{1}{x} \cdot (-x^2) = 0$

b) $l = \lim_{x \rightarrow 1} \frac{\sin(2^x - 2)}{\operatorname{tg}(3^x - 3)}$ $\frac{0}{0}$ $\lim_{x \rightarrow 1} \cos/3^x$

$= \lim_{x \rightarrow 1} \frac{\cos(2^x - 2) \cdot (2^x - 2)'}{\frac{1}{\cos^2(3^x - 3)} \cdot (3^x - 3)'} = \lim_{x \rightarrow 1} \frac{\cos(2^x - 2) \cdot 2^x \ln 2}{\frac{1}{\cos^2(3^x - 3)} \cdot 3^x \ln 3} =$

$\frac{1 \cdot 2 \ln 2}{1 \cdot 3 \ln 3} = \frac{2 \ln 2}{3 \ln 3}$

Calcolati: a) $\lim_{x \rightarrow -2} \left(\frac{1}{x+2} - \frac{1}{\ln(x+3)} \right)$

b) $\lim_{x \rightarrow \infty} \left(\frac{\pi}{2} - \operatorname{arctg} x \right)^{\frac{1}{\ln x}}$

a) E₁) $l = \lim_{x \rightarrow -2} \frac{\ln(x+3) - (x+2)}{(x+2) \cdot \ln(x+3)} \frac{0-0}{0 \cdot 0}$
 $= \lim_{x \rightarrow -2} \frac{\frac{1}{x+3} \cdot 1 - 1}{1 \cdot \ln(x+3) + (x+2) \cdot \frac{1}{x+3}} \frac{0}{0} = \lim_{x \rightarrow -2} \frac{1-x-3}{(x+3) \ln(x+3) + x+2}$
 $= \lim_{x \rightarrow -2} \frac{-x-2}{(x+3) \ln(x+3) + x+2} \frac{0}{0} \stackrel{l'H}{=} \lim_{x \rightarrow -2} \frac{-1}{1 \ln(x+3) + (x+3) \frac{1}{x+3} + 1}$
 $= \lim_{x \rightarrow -2} \frac{-1}{\ln(x+3) + 2} \frac{-1}{0+2} = -\frac{1}{2}$

b) E₁) $l = \frac{0}{\infty} = e$

E₂) $l_1 = \lim_{x \rightarrow \infty} \frac{\ln\left(\frac{\pi}{2} - \operatorname{arctg} x\right)}{\ln x} \frac{-\infty}{\infty}$
 $= \lim_{x \rightarrow \infty} \frac{\frac{1}{\frac{\pi}{2} - \operatorname{arctg} x} \cdot \left(0 - \frac{1}{1+x^2}\right)}{\frac{1}{x}} = \lim_{x \rightarrow \infty} -\frac{x}{\left(\frac{\pi}{2} - \operatorname{arctg} x\right) \cdot (1+x^2)}$
 $\frac{\infty}{0 \cdot \infty} \stackrel{l'H}{=} \lim_{x \rightarrow \infty} -\frac{\frac{x}{1+x^2}}{\frac{\pi}{2} - \operatorname{arctg} x} \frac{0}{0} \stackrel{l'H}{=} \lim_{x \rightarrow \infty} -\frac{\frac{1(1+x^2) - x \cdot 2x}{(1+x^2)^2}}{0 - \frac{1}{1+x^2}}$
 $= \lim_{x \rightarrow \infty} \frac{1-x^2}{(1+x^2)^2} \cdot \frac{1}{1+x^2} = \lim_{x \rightarrow \infty} \frac{1-x^2}{1+x^2} = -1$
 $\Rightarrow l = e^{-1} = \frac{1}{e}$